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Question 1 (87%). Choose the most correct answer:

(1) The number of your discussion section is ..4..D

(c) is concave up on (—oo, 0] and down on [0, 00) with inflection point at z = 0
(d) is concave up on (—o0,00) with no inflection points

(4) The domain (D) and range (R) of the function f(z) = tan~! z are
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(13) If the population of a country increases exponentially with k = 0.1In2.\\ The population
will double in A B
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(21) tan~"(sech(0)) = ' ( \ \ -
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(22) The solution of the equation In(sinz) — In(cosz) = 0 in the interval (0, §) is
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(25) The length of the curvely = coghlz\when 0 < z <In2 is
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(26) The function f(z) = (3)" is

H,_ (a) increasing and ave up
(b) increasi

and concave down

Creasing and concave up

d) decreasing and concave down
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(27) The volume generated by revolving the region bounded by y = 1/z, the lines y = 2 and the
y-axis about the line y = 2 using the washer method is given by
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(29) The volume of the solid generated by revolving the region in the first quadrant bounded

/ by y = V9 — 12, :O,JJZOab‘O;‘l—t}he y-axis equals
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Question 2 (6%). Evaluate the following integral

dz d x
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Question 3 (16%). Consider the region in the first quadrant enclosed between y = z3 + 3,

y = 4, and y-axis.

Find the volume of the solid of revolution in the cases below. (Do not evaluate the integrals)
Y= r : + 3

a) The axis of revolution is the y-axis. Use the disk method.
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